
 

 

Základní škola Zachar, Kroměříž, příspěvková organizace 

 

Pracovní list - řešení 
 

Předmět: Anglický jazyk – 10. týden 

Ročník: šestý (Radka Hanáková) 

Opakování vzdělávacího celku: past simple – minulý čas prostý 

 

 

Write the sentences negative. (Napiš věty v záporu.) 

 

 

 1   We walked to school yesterday. 

   ______We didn’t walk to school yesterday_______ . 

 

 2   My dad lived in New York. 

   ______My dad didn’t live in New York__________ . 

 

 3   Suzan broke her leg. 

   ______Suzan didn’t break her leg__________ . 

 

 4   We bought a new house. 

   ______We didn’t buy a new house____________ . 

 

 5   She was a good student. 

   ______She wasn’t a good student______________ . 

 

 6   Mark danced at the party. 

   ______Mark didn’t dance at the party________ . 

 

 7   Amanda woke up late last weekend. 

   ______Amanda didn’t wake up late last weekend____ . 

 

 8   The phone rang. 

   ______The phone didn’t ring_______________ . 

 

 9   We were ill last week. 

   _______We weren’t ill last week_____________ . 

 

10  They built a new supermarket in our town. 

  _______They didn’t build a new supermarket in our town____ .  

 

 

 

Vypracovala: Radka Hanáková 



 


